AQ A g SPECIMEN MATERIAL

GCSE
BENGALI

Higher Tier Paper 3 Reading

Specimen 2019 Time allowed: 1 hour

You will need no other materials.

Instructions

e Use black ink or black ball-point pen.

Fill in the boxes at the bottom of this page.

Answer all questions.

You must answer all the questions in the spaces provided. Do not write on blank pages.

In Section A, answer the questions in English. In Section B, answer the questions in

Bengali. In Section C, translate the passage into English.

¢ Do all rough work in this answer book. Cross through any work you do not want to be
marked.

Information

e The marks for questions are shown in brackets.
¢ The maximum mark for this paper is 60.

¢ You must not use a dictionary.

ﬁease write clearly, in block capitals, to allow character computer recognition.

Centre number DDDDD Candidate number DDDD
Surname DDD‘:DDDDDDDjDDjDDDDDDDDDD

Forenames) | | [ [ [ T T LT TTLTLITITT T T LT TT]

Candidate signature /

8638/RH



Section A Questions and answers in English

0] 1] Social networking

A magazine has published the results of an online survey about the use of social networks
in Bangladesh. Read the summary of the results.
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What percentage of people use social networking for the following reasons?

Complete the boxes with English numbers.

: To socialise with people %

[1 mark]
: To play games %

[1 mark]
: For their studies %

[1 mark]

: What is the least popular reason? Answer in English.

[1 mark]
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Winter jobs

You are interested in how young Bangladeshi people spend their winter holidays and

come across this article online.
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This source has been removed due to third-party copyright restrictions.

o ZH0T A ABIZ 2 T SR Ty 3 e e 2 (O et

Ty TG FACAS A1 (ZIETHRER IS M SRR BIFd AGES! JS

T JIBIE T e T 07 59 I BT M 7 |

LT (ACF %) 929 T (REACCI0AR G GO (1S T@© WY €61 4
ST B 4TS T | GTHF W04 (T8 (T ©E (TATF 2475 AT

(A ATeq B6Te A7 TCo! SIE IS B 2 6w fqeited Sew A
fafes T SIREITSTAITS Sl SI130es 1 68 T 7 | (IoNS ST | KT 0@
ATY TIFI BIRCS HIA 1344 90T (SR T A0S O3 AW O 977
T G I RS (A0 T | OF G (RN ANI2 IMGCS 6

8=0

GeJ |

<




. One third of 17-20 year olds ...

A | are looking for a winter job.

B | have already found a winter job.

C | can’t decide whether to look for a job

Write the correct letter in the box.

[1 mark]
. A winter job opportunity, particularly outside Dhaka ...
A | can earn a good salary
B | depends on the tourist guides.
C | depends on the number of tourists.
Write the correct letter in the box.
[1 mark]

. Apart from earning money, why do the majority of young people want to work?
Answer in English.

[1 mark]

Turn over »



[0[3] Holiday experiences

You read this blog online about a disastrous holiday to Agra.
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Complete the grids below in English to indicate what the problems were and why they

happened.
Problem Reason
Flight departure delayed bad weather
Example
3.
m. lIl On the plane
[2 marks]
3] .
m. EI On the road
[2 marks]
[0]3]. Accommodation
[2 marks]




0] 4] Theenvironment

Two young people have posted their views on the environment on a Bengali blog.
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Answer the questions in English.

: How does Samina express her opinion about environmental issues?

[1 mark]
. How does Mamun react to Samina’s comments?

[1 mark]
. What should be the most important initiative, according to Mamun?

[1 mark]
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'0]5]| Futureplans

Read these posts by two students from your partner school in Bangladesh. They are
talking about their ambitions.
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Lubna

: Which two statements are true? Write the letters in the boxes.

A | Lubna thinks studying medicine would take less time.

B | Lubna wants to have a job where she can help poor people

C | Lubna will probably go to a university far away from home.

D | Lubna thinks there will be less financial burden on her parents.

E | Lubna thinks she will have to stay in the university accommaodation.

[2 marks]
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Arman

. Which two statements are true? Write the letters in the boxes.

A | Arman did not like his school.

B | Arman believes that a degree will not guarantee a good job.

C | Arman would want to look for any type of job.

D | Arman’s results are not very good.

E | Arman thinks it would be difficult to get a place in higher education.

[2 marks]
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Family relationships

Your Bengali friend has sent you a magazine. You read Jolly's letter to the problem page.
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: What happened to Jolly’s mum recently?

A | She lost her job.

B | The manager wrongly accused her of something.

C | The manager had an argument with her.

Write the correct letter in the box.

[1 mark]

: How does her mum feel at the moment?

A | Guilty
B | Worried
C | Angry

Write the correct letter in the box.

[1 mark]
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: How does Jolly think they could get money if they need it?

They could sell their property.

Her mum could apply for a bank loan.

C | Jolly could find a job.

Write the correct letter in the box.

[1 mark]

: How did Jolly feel about her mother having a baby?

A | Happy

B | Angry

C | Disappointed

Write the correct letter in the box.

[1 mark]

: What change has impacted on Jolly's life recently?

Her relationship with her father.

Her relationship with her friends

Her relationship with her teachers.

Write the correct letter in the box.

[1 mark]
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(0[7] Music
Read what these two people say in a chat room about music. Identify the people.
Write A for Aleya
B for Bashir
A+B for Aleya + Bashir
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; @ Who thinks that watching live concerts is exciting?

[1 mark]
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: Who thinks that parents should encourage children to play instruments ?

[1 mark]

Turn over for the next question
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Marriage/partnerships

You are on a flight to Bangladesh and read this newspaper article about a forthcoming

marriage.
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Answer the questions in English

10 [8].] 1| How did Sabbir feel about Lucy when they first met?

[1 mark]

. How did Lucy initially feel about Sabbir?

[1 mark]
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: Why did Lucy have to return to Devon?

[1 mark]
: Why was Sabbir happy to get married in Devon?

[1 mark]
. What made Lucy upset after the wedding had been arranged?

[1 mark]

Turn over for the next question
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Section B Questions and answers in Bengali
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[1 mark]
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. WfeeTa BTox Ft w0 Fcaw? 7fo a7 @ |
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2
[2 marks]
[09].[3] wiftwwa wmce! @I @ S Fa0z?
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2
[2 marks]

Turn over for the next question
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[1 mark]
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[3 marks]
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Section C Translation into English

Your friend has seen this tweet on Twitter and asks you to translate it for him into
English.

TR IHMS AL SN 272 GF AT GF6T ACE 2 FRT GTICT ST (@5
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[ 9 marks]

END OF QUESTIONS
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